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Iy = 364 + 17 ∙ 9.2 −
12.0

2

2

+

2.95 + 2.67 ∙ 9.2 − 1.00 2 +

+
0.8 ∙ 20.03

12
+ 0.8 ∙ 20.0 ∙

20.0

2
− 8.8

2

+

+29.3 + 13.5 ∙ 8.8 − 1.55 2 −

−
0.7 + 0.8 ∙ 1.03

12
+ 0.7 + 0.8 ∙ 1.0 ∙ 9.2 − 5.5 −

1.0

2

2

= 2000.34 [cm4]

[mm]

𝐶1

𝐶2

𝐶4

Iy = Iy
(1)

+ A(1) ∙ dz 1
2 + Iy

2
+ A 2 ∙ dz 2

2 + Iy
3
+

+A(3) ∙ dz 3
2 + Iy

4
+ A 4 ∙ dz 4

2 − Iy
gol

+ A gol ∙ dz gol
2

𝑑𝑧(1)

𝑑𝑧(2)

𝐶3
𝑑𝑧(3)

𝑑𝑧(4)

𝐶𝑔𝑜𝑙
𝑑𝑧(𝑔𝑜𝑙)
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𝐶1

𝐶2

𝐶4

𝑑𝑦(1)

𝑑𝑦(2)

𝐶3 𝑑𝑦(3)

𝑑𝑦(4)

𝐶𝑔𝑜𝑙
𝑑𝑦(𝑔𝑜𝑙)

68-55-8=5

Iz = 43.2 + 17 ∙ 0.5 + 0.8 + 1.60 2 +

2.95 + 2.67 ∙ 1.0 − 0.5 2 +

+
20.0 ∙ 0.83

12
+ 20.0 ∙ 0.8 ∙ 0.5 +

0.8

2

2

+

+206 + 13.5 ∙ 9.5 −
10.0

2

2

−

−
1.0 ∙ (0.7 + 0.8)3

12
+ 1.0 ∙ 0.7 + 0.8 ∙ 0.5 +

0.7 + 0.8

2

2

= 680.35 [cm4]

Iz = Iz
(1)

+ A(1) ∙ dy 1
2 + Iz

2
+ A 2 ∙ dy 2

2 + Iz
3
+

+A(3) ∙ dy 3
2 + Iz

4
+ A 4 ∙ dy 4

2 − Iz
gol

+ A gol ∙ dy gol
2


